AVX Instructions.gxp_Layout 1 4/24/23 1:45 PM @e 1

AV SCOPE INSTRUCTIORS

FOR RING PIN ONLY - Starting with the back of the scope, slide the Ring Pin over scope
housing. Align pin with the desired slotf in housing and install with the fiber optic
facing the front of the scope (closest to your eye). Next install Ring Pin Retainer
and fighten down snug.

FOR LENS ONLY - Starting with the back of the scope, slide the External Spacer over
scope housing. Next install Ring Pin Retainer and fighten down snug. Drop Lens
Spacerinto back of scope housing first, followed by the Lens with the convex
curvature outward toward the target. Next install Lens Retainer and fighten
down snug onto Lens.

FOR RING PIN & LENS - Starting with the back of the scope, slide the Ring Pin over scope
housing. Align pin with the desired slotf in housing and install with the fiber optic
facing the front of the scope (closest to your eye). Next install Ring Pin Retainer
and fighten down snug. Drop Lens Spacer into back of scope housing first,

followed by the Lens with the convex curvature outward foward the target.
*WARNING: FAILING TO DO SO WILL RESULT IN SCRATCHING THE LENS, WHICH IS NOT COVERED UNDER WARRANTY.

Next install Lens Retainer and tighten down snug ontfo Lens.

ATTACHING RHEOSTAT - The Plus Model sights will already have the Rheostat installed on the
scope. For all other sight models simply remove the Ring Pin Retainer and Ring Pin.
Snap the Rheostat Cover over the groove on the front side of the Ring Pin (closest to
your eye). Re-install Ring Pin and Ring Pin Retainer.

ATTACHING SHADES & TORQUE INDICATOR - Sun Shades or the Torque Indicator can be
installed & removed without affecting the rest of the setup. There are threads in
the front of the Scope Housing, in the back of the Scope Housing, & in the back
of the Lens Retainer that will accept these accessories depending on where you
choose to use them.

SCOPE TO SIGHT CONNECTION - The “T" Connection that comes standard on the
AVX scope provides two points of contact for a sfronger more rigid connection
that is easier to level. This connection is unique to AXCEL® Sights and will work with
all of our hunting & fournament sights. Included also is the #10-32 Stainless Steel
threaded rod for use with sights that are not AXCEL® brand. If this method will be
used, remove the “T" Connection and the #10-32 set screw under the “T" -
Connection. Then install the #10-32 Threaded Rod info the center hole of the
Scope Housing where the #10-32 set screw was at.

RH/LH COMPATIBILITY - The AVX scope features an interchangeable Right Hand fo Left
Hand option so you don’t have to worry about ordering based on dexterity. Simply,
switch the Level Vial and the Level Blank (if installed) by removing the flat head
screws that hold them in place. Then re-install them in the reverse order.

*To prevent cracking the Level Vial be sure not to overtighten the screws.
If using a Ring Pin, the Ring Pin will also need to be rotated from bottom to top,
or fo the desired location.

USING A SIGHT LIGHT - The AVX scope provides two different methods for a sight light fo
be used. The “T" Connection features a small hole in the back where the fiber
optic can be installed. When using a Ring Pin, pull out the fiber optic and
tubing from one clip on the Ring Pin and insert it through the hole in the back
of the "T" Connection. A 3/8"x 32 Thread Pitch Sight Light can be screwed into
the end of the “T" Connection to provide light to the end of the fiber. The AVX
scopes also feature an angled sight light hole to be used for illuminating a Dot
Lens. When using a Dot Lens, install the sight light using the #8/32 threaded
hole on top of the scope housing to illuminate the center of the Lens.

—®—



%

Nid IHOIS 4610~ NId ONIJ dFONVY [7-XAV 6 LHY¥4-PXAV
Nid IHOIS 4010~ Nid ONIJ d3ONVY [7-XAV OLHY¥J¥¥-VXAV
Nid IHOIS 4610~ NId ONIJ dFONVY [E-XAY 6 LHYI¥Y-EXAV
Nid IHOIS «010™~ Nid ONIJ dFONVY [€-XAV OLHY¥J¥Y-EXAV
JIAOD IVISOIFHY ANV Nid ONIY 319NOA dIONVY
Nid IHOIS 4610~ NId ONIJ dFONVY [7-XAV 6Ld¥¥-PXAV
Nid IHOIS 4010~ NId ONIJ dFONVY [7-XAV 0Ld¥¥-vXAV
Nid IHOIS 4610~ NId ONIJ dFONVY [E-XAV  61d¥¥-EXAV
Nid IHOIS «010™~ NId ONIJ dFONVY [E-XAV 0Ld¥¥=-EXAV

(quay) a3y/a3y
(Qu¥o) @38 /N3O
(49¥9) N33¥O /N33O
SHOT0O H3gH

«61l0" ¥ °,010
3zIS g3gid

D

4

4

M

(30700 Nid D1tdo a3 Ad03as)  §3d0I§ XAV vo: EMMJJI‘%

NId [HOIS 610~ NId ONId [7-XAV 8 LHYdY-PXAV
NId [HOIS «0L0™ NId ONId [7-XAY OLH¥dY-PXAV
NId [HOIS 610~ NId ONId [€-XAV 8 LHYdY-EXAV
NId [HOIS «0L0~ NId ONId [€-XAY OLH¥dY-EXAV
JIAOD LIVISOIFHY ANV Nid ONIY FT1GVIONVHIIIINI

NId [HOIS 610~ NId ONI [7-XAV 6 Ldd=PXAV
NId [HOIS «0L0~ NId ONI [7-XAV 0Ldd=PXAV
NId [HOIS 610~ NId ONIJ [E-XAV 6Ldd=EXAV
NId [HOIS «0L0~ NId ONI [E-XAY O0Ld¥=-EXAV

(40102 Nid DILO ¥38H AdID3dS)

14
AG-HSOT-EXAY
84 3aVHS ONO1
SAINIS XAV :SLH X OdLO-LEXY
NOILOINNOD-L XAV GZAVY
4DS-XV
QOV 1SS .TE-0L# EDen 1 o i 1
S1IDNVIL
S3ISN3IT
SDIJIOHD mm w
sJoa
S NMOaMv3idg
22N _—elx>< aNy _—MI*>< Nid ODNIY ONISNOH 3d03S
o= 319VIONVHIUILNI v
= HOLVYDIANI 3INDYOL J9-OIHI-EXAY
T YOLVDIANI INOYOL B ¥IAOD LVISOIHY
4oy 1SS .TE-OL#
% Y3ANIVLIY NId ONIY ¥0
4.|. NOILIINNOD-L :
| : JAVHS d3dd3ils
[%¢)
& JAVHS DNO1 SNI1
N
< 14 14
— AG-OFHI-EXAVY AG-NIOL-EXAV
o ¥IAOD LVISOIHY  ¥OLVDIANI INDUOL
3
= ¥
L_ r A7 mx>< >wwﬂﬂwhum~_x>< S mx><
a YINIVLIY SNI1 43n0D MNVY1E 13ATT : N
W 1V1SO3HY YINIVIIY SNIT Nid ONRY ¥IDOVdS SNIT
2
o Y3DVdS SN ’
.w NOILDINNOD-L NI 30D . Aﬂz—m_.—ﬂ__— == _—ev _—el*><
£ Y3DVdS TVNHILX3 SIHOM1 LHOS 3078 5 LM
m E.qmmrvw_m_\ whwﬂ<x< Aﬂz—m_.—:__— == _—MV _—m *>< y
x
>
<<

—®—

) In18

(a¥) a3y
(¥9) N3O
(1) MOTI3A

4

407100 J3gid

«6L0° ¥ 010" |
3zIS g3gid

§3d015 XAV :o: Nia ONI 318vIONVHO¥ILNI

14
AG-HSIS-EXAY
JAVHS d3addals

14
A9-dSXI-EXAVY
¥IOVdS TVN¥ILX3I

14
AG-gT-EXAY
JINVIE 13A31



